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(https://www.ciokorea.com/news/137299)
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(https://www.youtube.com/watch?v=htobaUzdAUM)
5. E2jO|ZE
https://www.nextunicorn.kr/company/%ED%8A%B8%EB%9D%BC%EC%ID%B4%ED%8F%AC%EB
%93%9C-9d56a6075781a4b5?tab=service
6. HIEA =55t 2REE ArESH|
(https://blog.danggun.net/2141)
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1. ZYEI| Ats F2LF FX|(AUTOMATIC ORDERING DEVICE FOR PACKAGING
CONTAINER), 1022950180000

2. QIHYl WX IOl AE X5 FE A|AE(Internet Refrigerator's Food Auto Order System),
1006734350000

3.2 =H&X| Sl o] XE 0|85 ol o2 H2|St= AIAE (a rice container and
system for controlling stock of rice by using the same), 1020010048890

4. 2B E XEYF A2H (AUTOMATIC ORDERING SYSTEM FOR CONSUMABLE UNIT),
1020190026093
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/*
Example using the SparkFun HX711 breakout board with a scale
By: Nathan Seidle
SparkFun Electronics
Date: November 19th, 2014
License: This code is public domain but you buy me a beer if you use this and we meet someday

(Beerware license).

This is the calibration sketch. Use it to determine the calibration_factor that the main example uses. It
also

outputs the zero_factor useful for projects that have a permanent mass on the scale in between power
cycles.

Setup your scale and start the sketch WITHOUT a weight on the scale
Once readings are displayed place the weight on the scale
Press +/- or a/z to adjust the calibration_factor until the output readings match the known weight

Use this calibration_factor on the example sketch

This example assumes pounds (Ibs). If you prefer kilograms, change the Serial.print(" Ibs"); line to kg.
The

calibration factor will be significantly different but it will be linearly related to Ibs (1 lbs = 0.453592 kg).

Your calibration factor may be very positive or very negative. It all depends on the setup of your scale
system

and the direction the sensors deflect from zero state
This example code uses bogde's excellent library: https://github.com/bogde/HX711
bogde's library is released under a GNU GENERAL PUBLIC LICENSE
Arduino pin 2 -> HX711 CLK
3 -> DOUT
5V -> VCC
GND -> GND

Most any pin on the Arduino Uno will be compatible with DOUT/CLK.

The HX711 board can be powered from 2.7V to 5V so the Arduino 5V power should be fine.

*/

//This library can be obtained here http://librarymanager/All#Avia_HX711
#include "HX711.h"



#define LOADCELL_DOUT_PIN 6
#define LOADCELL_SCK_PIN 2

HX711 scale;

//-7050 worked for my 440lb max scale setup
float calibration_factor = 200000;

void setup()
{
Serial.begin(9600);
Serial.printin("HX711 calibration sketch");
Serial.printIn("Remove all weight from scale");
Serial.printIn("After readings begin, place known weight on scale");
Serial.printIn("Press + or a to increase calibration factor");

Serial.printIn("Press - or z to decrease calibration factor");

scale.begin(LOADCELL_DOUT_PIN, LOADCELL_SCK_PIN);
scale.set_scale();
//Reset the scale to 0

scale.tare();

//Get a baseline reading

long zero_factor = scale.read_average();

//This can be used to remove the need to tare the scale. Useful in permanent scale projects.
Serial.print("Zero factor: ");

Serial.printIn(zero_factor);

void loop()
{
//Adjust to this calibration factor

scale.set_scale(calibration_factor);

Serial.print("Reading: ");

Serial.print(scale.get_units(), 1);

//Change this to kg and re-adjust the calibration factor if you follow Sl units like a sane person
//?1E OIMZE T2 E(lbs) 7|=0|X|2F 22|= Z=H(kg)e EANO0ER 'kg'2 HHEAILE
Serial.print(" kg");

Serial.print(" calibration_factor: ");

Serial.print(calibration_factor);

Serial.printIn();

if(Serial.available())



char temp = Serial.read();

/788 BEY He 28 Jhsote
switch(temp)
{
case '1"
calibration_factor += 10;
break;
case 2"
calibration_factor += 50;
break;
case '3":
calibration_factor += 100;
break;
case '4"
calibration_factor += 1000;
break;
case '5"
calibration_factor += 10000;

break;

case 'a".
calibration_factor -= 10;
break;

case 's".
calibration_factor -= 50;
break;

case 'd"
calibration_factor -= 100;
break;

case 'f:Xx
calibration_factor -= 1000;
break;

case 'g"
calibration_factor -= 10000;
break;
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//This library can be obtained here http://librarymanager/All#Avia_HX711
#include "HX711.h"

/A2 A2 oldgs €0 SLIC

#define calibration_factor -20300.0

#include <ArduinoBLE.h>

//DT(DOUT)Z AtR8t= T

#define LOADCELL_DOUT_PIN 6

//SCK(CLK)2 At8%l= H

#define LOADCELL_SCK_PIN 2

BLEService WeightService("58:BF:25:3C:26:CE");

BLEFloatCharacteristic WeightChar("19B10001-E8F2-537E-4F6C-D104768A1214", BLENotify);

HX711 scale;

long previousMillis = 0; // last time the battery level was checked, in ms

long prevtime;

/RIS BN MES F=X 7=
int nValueCount = 30;
/RS MNP F= HE. fle B it 22 37| dF-iCt

float fValue[30];

void setup()
{
Serial.begin(9600);
if (\BLE.begin()) {
Serial.printIn("starting BLE failed!");

while (1);

!
BLE.setLocalName("weight");



BLE.setAdvertisedService(WeightService); // add the service UUID

WeightService.addCharacteristic(WeightChar); // add the battery level characteristic

BLE.addService(WeightService);

WeightChar.writeValue(0);

// start advertising

BLE.advertise();

Serial.printIn("BLE LED Peripheral);

Serial.printIn("HX711 kg demo");

//HX711 A& 27|38t oot
scale.begin(LOADCELL_DOUT_PIN, LOADCELL_SCK_PIN);
/1278 E A2y 0|d s 27 oot
scale.set_scale(calibration_factor);

//BE B7| Sl A4S 022 =Cf

scale.tare();

Serial.printIn("Readings:");

float weight(){
float w;

Serial.print("Reading: ");

/e YA MY
float fValueTemp = 0.0;
/1% gt

float fValueSum = 0.0;

//scale.get_units() returns a float
fValueTemp = scale.get_units();
//AS WS Ao 2o FCt

fValueSum = fValueTemp;



int i;
for(i = 0; i < nValueCount; i =i + 1)
{
ifi > 0)
{//0ECt SMEE ALk
//HEE Y5 Qe El O|O[EO|Lt.

/71E0 MEE HO[H it

fValueSum = fValueSum + fValueli];

fValue[i - 1] = fValueli];

/T OEX|Srof Z A 2O EL

fValue[nValueCount - 1] = fValueTemp;

-
-

w = fValueSum / nValueCount;
Serial.print((fValueSum / nValueCount), 1);

//You can change this to kg but you'll need to refactor the calibration_factor
Serial.print(" kg");

Serial.printin();

return w;

void loop()

{

// listen for BLE peripherals to connect:

BLEDevice central = BLE.central();

// if a central is connected to peripheral:

if (central) {

Serial.print("Connected to central: ");

Serial.printIn(central.address());



// while the central is still connected to peripheral:
while (central.connected()) {

float weights;

long currentMillis = millis();

long currenttime = millis();

// if 200ms have passed, check the battery level:
if (currentMillis - previousMillis >= 50) {
previousMillis = currentMillis;
weights = weight();

}

if (currenttime - prevtime >= 500) {

prevtime = currenttime;

WeightChar.writeValue(weights); // and update the battery level characteristic

//if (WeightChar.written()){
//int val = WeightChar.value();
//Serial.printin(val);

/Y

Serial.print(F("Disconnected from central: "));

Serial.printIn(central.address());



A =4(PC oo AE)

import os
import asyncio
import bleak
from bleak import BleakClient
import time
import struct
10) import datetime
11)read_data = bytearray()
12)filename = "C:/project/weight.txt"
13)
14)address = "58:BF:25:3C:26:CE"
15)
16)

17)notity charcteristic_uuid = "19b10001-e8f2-537e-4f6C-
d1e4768a1214"

18)

19)

20) notify callback(sender: int, data: bytearray):

21) read_data

22) read_data = data

23)

24) run(address):

25) read_data

26)

27)

28)

29) async with BleakClient(address, timeout=50) as
client:

30)

31) print('connected")

32)

33) services = await client.get_services()

34)

ELY) for service in services:

36) print('service uuid:', service.uuid)

37)

38) for characteristic in service.characteristics:

39) print("® wuuid:', characteristic.uuid)

40)

41) print(' handle:', characteristic.handle)

42) print(' properties: ', characteristic.properties)

43)

44) if characteristic.uuid == notity_charcteristic_uuid:

45)

46)

47) if 'notify’ characteristic.properties:

48)

49)




50) print('try to activate notify."')
51)

52)

53) while client.is_connected() :
54) try :

55)

56)

57) await client.start_notify(characteristic, notify callback)
58) await asyncio.sleep(3)
59)

(12)) except :

61) print("read date failed")
62) await client.disconnect()
63) exit()

64)

65)

66)

67)

(1:)) await client.stop_notify(characteristic)

69) weight = struct.unpack('f', read_data)

70)

71) weight = round(weight[@], 2)

72) print(weight)

VE)) now = datetime.datetime.now()

74) print(now)

75) if (os.path.isdir("C:/project") == True) and
(os.path.isfile('C:/project/weight.txt"') == False) :

76) f = open('C:/project/weight.txt', 'w')

77) f.close()

78) elif (os.path.isdir("C:/project") == False) and
(os.path.isfile('C:/project/weight.txt') == False) :

79) os.makedirs('C:/project")

(%)) f = open('C:/project/weight.txt', 'w')

81) f.close()

82) f = open('C:/project/weight.txt', 'a')

EED) f.write(str(now) + ", " + str(weight) + "\n")

84)

85) f.close()

86)

87)

88) e

89) # client JF HZ & HEHCHH

=[2)) if client.is_connected:

91) # 1 X2t 0D

92) await asyncio.sleep(1)

93) print('try to deactivate notify.')

94) # 2HAIZE notify E S Al Al2ILCt.

95) await client.stop_notify(notity_charcteristic_uuid)
96)
97)




98)
99)
100)

101)
102)
103)
104)

print('disconnect")

loop = asyncio.get_event_ loop()
loop.run_until complete(run(address))

print('done")



4) Ml =274 (PC mo|M AE)
import tkinter
from tkinter import *
from tkinter import ttk
from tkinter import messagebox
import time
import random
import threading
import os
from selenium import webdriver
from selenium.webdriver.common.keys import Keys
import pyperclip
import csv
import datetime as dt
import pandas as pd

if (os.path.isdir("C:/project"”) == True) and (os.path.isfile('C:/project/info.txt")

open('C:/project/info.txt"', 'w')
f.close()
elif (os.path.isdir("C:/project”) == False) and
(os.path.isfile('C:/project/info.txt"') == False) :
os.makedirs('C:/project’)
f = open('C:/project/info.txt", 'w')
f.close()

mainpage = Tk()

mainpage.title("Loadcell Project")
mainpage.geometry ("400x720+1400+200")
mainpage.resizable(False, False)
page = Canvas(mainpage, width=1080, height= 720)
page.pack()
.create_line(9,200,400,200, fill = "black")
.create _line(0,500,400,500, fill = "black")
def readweight() :
format = '%Y-%m-%d %H:%M:%S.%f"
open("C:/project/weight.txt", 'r')
lines = f.readlines()
if not lines :
return [(-1, -1), (-1, -1)]

if len(lines) < 10 :
return [(-1, -1), (-1, -1)]




now = lines[-1]
prev = lines[-10]

now_date, now_weight = now.split(", ")
prev_date, prev_weight = prev.split(", ")

now_weight = float(now_weight)
now_date = dt.datetime.strptime(now date,format)

prev_weight = float(prev_weight)
prev_date = dt.datetime.strptime(prev_date,format)

f.close()

return [(now_date, now_weight), (prev_date, prev_weight)]

weight_change():

weights = readweight()

weight = weights[0][1]

weight label = tkinter.Label(mainpage, text = "%.1f"%weight,
font=("arial",40,"normal"))

weight label.place(x=130, y=60)

print("%.1f" % weight)

threading.Timer (10, weight_change).start()
weight_change()
def auto_order():

print("start auto_order")
driver = webdriver.Chrome('C:/project//chromedriver"')

driver.get('https://naver.com')
time.sleep(1)

driver.find_element_by xpath("//a[@class="link login']").click()
time.sleep(1)

tag id = driver.find_element_ by name('id")
tag_id.clear()

tag id.click()

pyperclip.copy('Naver_ID")

tag id.send_keys(Keys.CONTROL, 'v')




tag pw = driver.find_element_by name('pw")
tag _pw.clear()

tag pw.click()

pyperclip.copy('Naver PW")

tag pw.send keys(Keys.CONTROL, 'v')

driver.find element by id('log.login').click()
time.sleep(1)

url = 'https://smartstore.naver.com/auto_test/products/6732771139"

driver.get(url)
driver.set_window size(960, 1200)

xpath = '//*[@id="content"]/div/div[2]/div[2]/fieldset/div[7]/div[1]/div/a’
btn = driver.find_element_by_xpath(xpath)

btn.send_keys(Keys.ENTER)

time.sleep(3)

driver.quit()

if os.path.isfile('C:/project/order date.txt'

f = open('C:/project/order_date.txt', 'w
f.close()

def order_date():
now = dt.datetime.now()

f = open('C:/project/order_date.txt', 'a', newline='")
f.write(now.strftime( %Y-%m-%d %H:%M\n"))
f.close()

def weight_order():

print("weight order")




weights = readweight()

now_weight = weights[0][1]

prev_weight = weights[1][1]

print("now weight : {0}, prev weight = {1}".format(now _weight, prev_weight))

if now_weight < 10 and prev_weight > 10:
time.sleep(3)
auto_order()
order_date()

threading.Timer (30, weight_order).start()

weight_order()

tkinter.Label(mainpage, text = "Kg", font=("arial",24,"normal")).place(x=240,y=80)

def product_page():
p_page = Toplevel()
p_page.title("MZ Ss=5/8H&E")
p_page.geometry('200x250+450+250")
p_page.resizable(False, False)

title = Label(p_page)
title['text'] = 'NZ s=/4H4"
title.place(x = 55, y = 10)

label name = Label(p_page)

label _name['text'] = "ME0|S :
label name.place(x = 30, y = 50)
p_name = Entry(p_page, width=10)
p_name.place(x = 90, y = 50)

label weight = Label(p_page)

label weight['text'] = 'JIERA
label weight.place(x = 30, y = 99)
p_weight = Entry(p_page, width=10)
p_weight.place(x = 90, y = 90)

label link = Label(p_page)

label link['text'] = 'F0HE 3
label link.place(x = 30, y = 130)
p_link = Entry(p_page, width=10)
p_link.place(x = 90, y = 130)

label count = Label(p_page)
label count['text'] = 'FO0i=&F




label count.place(x = 30, y = 170)
p_count = Entry(p_page, width=10)
p_count.place(x = 90, y = 170)

def save():
f = open('C:/project/info.txt', 'w', encoding="UTF8")
f.write('%s,' % p_name.get())
f.write('%s,' % p_weight.get())
f.write('%s," % p_link.get())
f.write('%s" % p_count.get())
f.close()
p_page.destroy()

b_save = Button(p_page, width=10, height=1, text = "M&", command=save)
b_save.place(x = 55, y = 200)

p_page.mainloop()

product = Button(mainpage, width=20, height=5, text
command=product_page)
product.place(x = 30, y = 250)

def info_page():
i page = Toplevel()
i _page.title("ME & =0QI")
i page.geometry('200x230+450+250")
i_page.resizable(True, True)

title = Label(i_page)
title['text'] = 'MIZ L &0l
title.place(x = 55, y = 10)

f = open('C:/project/info.txt', 'r', encoding='UTF8")
p_info = f.readline()

info_list = p_info.split(',")

p_name = info list[0]

p_weight = info_list[1]

p_link = info_list[2]

p_count = info list[3]

label name = Label(i_page)
label_name['text'] = "KMIZS0|& :
label name.place(x = 30, y = 50)

i _name = Label(i_page, text = p_name)
i name.place(x = 90, y = 50)

label weight = Label(i page)




label weight['text'] = 'JIE=F A

label weight.place(x = 30, y = 99)

i weight = Label(i_page, text = p_weight)
i_weight.place(x = 90, y = 90)

label link = Label(i_page)

label link['text'] = '0HE =3 : '
label link.place(x = 30, y = 130)

i link = Label(i_page, text = p_link)
i link.place(x = 90, y = 130)

label count = Label(i_page)

label count['text'] = 'FOHF @
label count.place(x = 30, y = 170)
i_count = Label(i_page, text = p_count)
i count.place(x = 90, y = 170)

i_page.mainloop()

info = Button(mainpage, width=20, height=5, text = "H& &%
command=info_page)
info.place(x = 220, y = 250)

def order list():
list show = Toplevel()
list show.title("Z2 =& UWE")
list_show.geometry('300x200+450+250")
list_show.resizable(False, False)

title = Label(list_show)
title['text'] = 'Z2 == WHA"
title.place(x = 110, y = 10)

open('C:/project/order_date.txt', 'r')

order_dates = f.readlines()
count = len(order_dates)

if count >= 5:
j=>5
for i in range(@, 5):
num = Label(list_show)
num[ "text'] = i+l
num.place(x = 90, y = 40 + (30 * i))

order_show = Label(list_show)
order_show[ 'text'] = order_dates[count-j].strip()
order_show.place(x = 110, y = 40 + (30 * i))

8

ol

=
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else:
for k in range(@, count):
num = Label(list_show)
num[ ‘text'] = k+1
num.place(x = 90, y = 40 + (30 * k))

order_show = Label(list_show)
order_show[ "text'] = order_dates[k].strip()
order_show.place(x = 110, y = 40 + (30 * k))

f.close()

order = Button(mainpage, width=20, height=5, text = "X& =2 ", command =
order 1list)
order.place(x = 30, y = 360)

def delete_info():
if os.path.isfile('C:/project/info.txt"):
f = open('C:/project/info.txt"', 'w')
f.write(' , , ")
f.close()

messagebox.showinfo("Delete", "HE EEIt AHEAUSLICE.")

product_reset = Button(mainpage, width=20, height=5, text
command = delete_info)
product_reset.place(x = 220, y = 360)

day_graph = Button(mainpage, width=15, height=5, text = "2 & JJfIE")
day_graph.place(x = 20, y = 560)

o

week graph = Button(mainpage, width=15, height=5, text = "= &< Zlci=Z")
week graph.place(x = 140, y = 560)

month_graph = Button(mainpage, width=15, height=5, text = "& & ")
month_graph.place(x = 260, y = 560)

mainpage.mainloop()
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